Graphing Total Taxes (Handout 5)
This handout will be based on the following progressive tax info from Handout 2. 
If you earn…

- Up to $10,000, you would pay 10% tax on your income.

- Up to $30,000, you would pay 20% tax on the portion of your income between $10,000 and $30,000.

- Over $30,000, you would pay 30% tax on the portion of your income over $30,000.

1) Copy and complete this table. Use x values from $0 to $50,000, at intervals of $5,000. Show your work in your notebook!
	Income, x
	Total Tax Amount, T(x)

	$0
	$0

	$5,000
	

	$10,000
	

	$15,000
	

	$20,000
	

	…etc…


	

	$40,000
	

	$45,000
	

	$50,000
	


2) Graph the function T(x).
3) Next to your graph of the function, label each segment with the slope. (Hint: You should be able to find the slope without doing calculations. Think about what slope means, and refer to Handout 1 if necessary.)

4) Write the equation for the piecewise function T(x), including all appropriate domain restrictions.
